1
8

Please note that there is no “key” for this exam. If you can’t answer many questions, it means that you are not ready for the exam! Before trying to answer these questions thoroughly read your notes and text and work out the problems in the textbook and online. If you wish, you can submit the answers on a Scantron a few days before the actual exam to see the result.
Multiple Choice Questions (100 Points)

1. Macroeconomics is best suited to answering questions about

a.  unemployment among students on this campus

b.  why rent is higher in big cities than in smaller ones

c.  how fast the overall price level will rise next year

d.  the demand for public transportation in rural areas

e.  why sales taxes in this area are increasing

2. The  combination of marginalist theories and some aspects of Keynes's theories is called the

a. monetarist synthesis.

b. classical economics.

c. neoclassical synthesis.

d. adoptive expectation synthesis.

e. post-Keynesianism. 

3. According to your text, which of the following is an important macroeconomic goal?

a.  both d and e

b.  all of the following

c.  rapid economic growth

d.  stable prices

e.  full employment

4. Say’s law implies that

a. savings and investment are  never identical.

b. price level is independent of the money supply.

c. supply creates its own demand.

d. demand creates it own supply.

e. aggregate demand consists solely of consumption goods.

5. The title of John Maynard Keynes’s famous book written in 1936 is

a. Capital.

b. An Inquiry into the Nature and Causes of the Wealth of Nations.

c. Principles of Economics and taxation.

d. The General Theory of Employment, Interest and Money.

e. The General Theory of Price, Distribution of Income and Planned Economy. 

6. The phase of the business cycle characterized by falling output is usually called a(n)

a.  peak.

b.  recession.

c.  recovery

d.  trough.

e.  expansion.

7. Which of the following is a period of decreasing output that is severe and long lasting?

a.  business cycle

b.  expansion

c.  peak

d.  recession

e.  depression

8.  Neoclassical economists believe that

a.  the government should play an active role in controlling the economy

b.  laissez faire will hurt the economy

c.  the economy is controlled by the government

d.  the government can best help the economy by leaving it alone 

e.  economists should offer guidance to governmental leaders

9. Which of the following is not among the three neoclassical tenets that Keynes attacked in his famous 1936 book?

a. Say’s law

b. Labor market theory

c. Price determination theory

d. Determination of the interest rate theory

e. None of the above.

10. Which of the following did not occur during the Great Depression?

a. Output fell.

b. Interest rates declined.

c. Unemployment rose.

d. Price levels rose.

e. Investment declined.


11. Consider the graph to the right. The slope of the line f(x) is 

a.  1/6.

b. -1/6.

c.  6.

d. -6. 

e. None of the above.


12. The product rule states that if 

a. A=B x C, then %(A= %(B+ %(C.

b. A=B / C, then %(A= %(B – %(C.

c. A=B / C, then %(A= %(B+ %(C.

d. A=B x C, then %(A= %(B

13. The price per unit of good X rises from $25 to $45, the percentage change in price is:

a. 10%.

b. 20%.

c. 40%.

d.  80%.

a. None of the above.

14. Consider the geometric sum M = 200 +200/2 + 200/4 + 200/8 +…… . The sum converges to

a. 450.

b. 375.

c. 500.

d. 400.

e. 1000.

15. The term “capital,” as used by most economists, refers to

a.  stocks and bonds.

b.  the physical space in which production occurs.

c.  the time allocated to producing goods and services.

d.  financial securities such as stocks and bonds.

e.  man-made tools used to produce goods and services.

16. Which of the following is most closely associated with positive economics?

a.  determining the impact of government spending on the actual level of total employment

b.  determining the best level of immigration into the country

c.  determining whether too many luxury goods are being produced

d.  determining whether the government should reduce poverty

e.  determining whether the government should alter income taxes in order to increase total employment

17. An economic model is a(n)

a.  philosophical inquiry

b.  set of numbers that describe a firm (e.g., profits and assets)

c.  abstract representation of reality

d.  concrete representation of reality

e.  ideal to which economic entities are compared

18. A critical assumption

a.  makes an economic model a more concrete representation of reality

b.  eliminates unnecessary details from an economic model

c.  has an important impact on the conclusions of an economic model

d.  is usually implicit in an economic model

e.  increases the level of abstraction of an economic model

19. Which of the following would be strictly a microeconomic topic?

a.  a general rise in interest rates

b.  a drop in inflation

c.  an increase in total production in the United States

d.  a drop in the nation's unemployment rate

e.  an increase in the price of the Ford Taurus

20. The opportunity cost of any activity can be measured by the

a.  value of the best alternative that is given up.

b.  price (or monetary costs) of the activity.

c.  level of technology.

d.  time needed to select among various alternatives.

e.  fringe benefits associated with the activity.

21. A point inside a production possibilities frontier might represent

a. perfect efficiency.

b. a recession.

c. a situation of very high opportunity cost.

d. full employment of resources.

e. none of the above.

22. Which of the following should not be included in calculating the opportunity cost of attending college?

a. The benefits that could have been achieved from traveling around the world

b. The income forgone by choosing not to work

c. The satisfaction that could have been received from "doing nothing"

d. Normal food and housing expenses

e. none of the above.

23. If an economic system has organized production efficiently, output will be

a. on the production possibility frontier.

b. unrelated to the production possibility frontier.

c. outside the production possibility frontier.

d. inside the production possibility frontier.

e. none of the above.

24. Because of the so-called "law of increasing cost," production possibilities frontiers

a. are usually concave to the origin.

b. are usually straight lines.

c. will never intersect.

d. are usually the same as supply curves.

e. none of the above.

25. Economic growth is the process whereby the production possibilities curve shifts

a.  outward.

b.  either outward or inward.

c.  inward.

d. outward, then inward.

26. Consider the production possibilities curve to the right, where C stands for 

consumption goods and I for investment goods. Which of the following statements is true?

a. E will lead to greater economic growth because it contains more consumption goods.

b. F will lead to greater economic growth because it is very profitable.

c. F will lead to greater economic growth because it contains more investment goods.

d. E will lead to greater economic growth because it is very profitable. 

27. The amount of a good or service that buyers would be willing and able to purchase at a specific price is known as

a.  quantity demanded.

b.  demand.

c.  supply.

d.  quantity supplied.

e.  opportunity cost.

28. Which of the following will not cause a change in demand?

a.  Change in the price of related goods

b.  Change in income

c.  Change in the price of the good in question

d.  Expectation of higher prices

e.  All of the above will cause a change in demand.

29. If two goods are substitutes and the price of one good increases, the demand for the other good will

a. decrease.

b. not change.

c. increase.

d. not be related

30. If two goods are complementary goods and the price of one good increases, the demand for the other will

a. not be related.

b. decrease.

c. not change.

d. increase.

31. By definition an "inferior good" is one

a. whose demand curve will always shift to the left as income increases.

b. that an individual will demand if its price is very low.

c. whose demand curve will always shift to the right as income rises.

d. whose quantity demanded will decrease as its price decreases.

32. A change in quantity supplied can be caused by a change in

a. income.

b. price.

c. price of inputs.

d. technology.

e. none of the above. 

33. What do supply and demand curves have in common?

a.  they both usually slope upward

b.  they both show a relationship between quantity and price

c.  they both usually slope downward

d.  they can both shift in response to changes in income or wealth

e.  neither of them is influenced by the size of the population

34.  Market equilibrium occurs when

a. the forces of supply and demand oppose each other.

b. the forces of price and quantity oppose each other.

c. a market quantity just equates quantity supplied and quantity demanded.

d. a market price just equates quantity demanded and quantity supplied.

35. Which of the following would lead to a simultaneous change in both demand and supply?

a.  a change in the price of a substitute good

b.  a change in buyers' incomes

c.  a change in the price of a key input

d.  a technological improvement

e.  a change in the expected future price of the good 

36. A price below market equilibrium results in

a. inflation.

b. a surplus.

c. a shortage.

d. insufficient demand.

37. In a  market for potatoes, a rise in the price of beef  (a complement) and a rise in the wage paid to farm labor (an input) would cause

a. both the equilibrium price and equilibrium quantity to rise.

b. both the equilibrium price and equilibrium quantity to fall.

c.  a decrease in the equilibrium quantity, and an ambiguous effect on the equilibrium price.

d. a increase in the equilibrium price, and an ambiguous effect on the equilibrium quantity.

e. None of the above.

38. An expectation of higher price by both consumers and producers will __________ price and __________quantity.

a. increase/have an indeterminate effect on 

b. increase/increase

c. decrease/decrease

d. have an indeterminate effect on/increase

e. None of the above.

39. The precise definition of GDP is the total value of all

a.  goods and services produced by a nation, minus household labor

b.  goods and services produced by a nation, minus depreciation

c.  goods and services produced for the marketplace during a given year

d.  final goods and services produced for the marketplace during a given year, within the nation's borders

e.  final goods and services produced within the nation's borders during a given year

40. A Texas oil company extracts petroleum and sells it to a refinery for $1,000. After processing, the refinery sells the gasoline to a wholesaler for $1,500, who then sells it to a gas station for $1,700. The gas station sells it to customers for $2,500. In these transactions, how much has been added to GDP?

a.  $1,000

b.  $1,500

c.  $1,700

d.  $2,500

e.  $3,500

41. Which of the following would be included in a year's GDP?

a.  Susan cleans the fuel injectors on her car

b.  a private individual purchases 100 shares of IBM stock

c.  a timber company purchases land in Oregon

d.  a consumer buys an antique desk

e.  a college professor purchases a new computer

42. When nominal GDP has increased in the United States, we know for sure that

a. U.S. output of goods and services has increased.

b. the U.S. price level has increased.

c. the U.S. price level has decreased.

d. U.S. output of goods and services and/or the price level has increased.

e. both U.S. output of goods and services and the price level have increased.

43. Which of the following would be classified as consumption spending?

 a.  a family's purchase of a new home

 b.  a family's purchase of a used car

 c.  a family's payment for a child's hospitalization

 d.  a family's purchase of Microsoft stock

 e.  All of the above are classified as consumption spending

44. An example of a flow variable is

a.  the number of cars in the United States today

b.  the current value of your wealth

c.  the population of Mexico

d.  income

e.  the number of sweaters a clothing store has on its shelves

45. According to Hall & Lieberman, personal consumption spending now comprises approximately what fraction of GDP?

a.  one-third

b.  one-sixth

c.  three-quarters

d.  one-quarter

e.  one-half

46. An example of a frictionally unemployed individual is

a.  Sylvia, who quit her job to spend more time with her children.

b.  Rod, the lifeguard, who cannot find a job because the temperature is too low in October.

c.  Mary, a college student who quits her job to return to school.

d.  Steve, an individual who does not have the skills necessary to keep his job as an aerospace engineer.

e.  Samantha, who quits her job to look for better one.

47. Which of the following is a problem with the measurement of GDP?

a.  both d and e

b.  all of the following

c.  transfer payments are not included

d.  production in the underground economy is not counted

e.  non-market production is not counted

48. The unemployment in the United States is defined as the number of unemployed divided by

a. the US population.

b. the number of employed plus the number of unemployed.

c. the US population over the age of 16.

d. the number of employed.

e. the number of employed minus the number of unemployed. 

49. The approach to calculating GDP that measures the contribution of each firm to GDP is referred to as the

a.  expenditures approach to measuring GDP.

b.  factor payments approach to measuring GDP.

c.  value added approach to measuring GDP.

d.  productivity approach to measuring GDP.

e.  output approach to measuring GDP.

50. Gross private domestic investment has the following components:

a. business investment in structures and equipment, residential structures, and changes in inventory.

b. business investment in structures and equipment, residential structures, and net export of machinery. 

c. stocks, bonds, and real estate.

d. purchases of new firms, purchases of existing firms, and purchases of residential housing.

e. business investment in structures and equipment, durable goods, and changes in inventory.

1. Consider an incomplete listing of national income statistics for a hypothetical economy given below. 

Gross private investment ..............…………..  
33

Net interest payments ....................................    
6

Rental income  ...............................................   
2

Business profits .............................................. 
11

National income  ............................................ 
70

Indirect business taxes  ..................................    
8

Net investment   ............................................. 
16

Government Purchases of goods and services.. 
30

Exports  ..........................................................  
2

Import   ...........................................................  
3

51. Given the above statistics, GNP of this economy is 

a. 62.

b. 70.

c. 95.

d. 123.

e. none of the above

52. Given the above statistics, personal consumption must be

a. 33.

b. 25.

c. 43.

d. 64.

e. none of the above.
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